Ex+ro. Practice for Quz !
(Not reguiréd - just eXITa )
Stoichiometry Practice: Mixed Conversions

1) Translate: Aluminum is added to a copper (I) chloride solution, aluminum chloride and copper are
produced.

AV + 3Cull —  AlClz + 3Cu

A) 3.5 grams of aluminum would result in how many grams of copper being produced?

3.59 A\ x Imol AV 4 3mal Cu  ©355g U - IQ_53 Cq]
2u.q83m | mol Al | mol CU

B) If 1.25 moles of aluminum chloride were produced, how many grams of copper (I) chloride solution were
required?

.25 mal AlCls x 3Mol cucl , A9qcucl f[gq\ﬂ oucxj
| Mol AClz I Mol cuct

2) Translate: Mignesium ribbon reacts with oxygen to produce magnesium oxide.

A) If 3.5 grams of Magnesium ribbon were used, how many moles of magnesium oxide were produced?

3.5q Mg x 1Mol Mg , Zmo] Mgl . |o. 14 mel Mg o
24.31g Mg 2mol M9

B) Assuming 0.35 mole$ of magnesium oxide were produced, how many moles of Oxygen were required?

0.35 mol MQO x | mol 02 _ O_.I‘B‘ mola\_
o 2mol MSO : -

3) Translate: Potassium Chloride and Sodium Carbonate react in a double replacement reaction.

2KCl +  Na,C0s - —> 2NOCl + K,C0,

A) 5.5 grams of potassium chloride are used, how many moles of potassium carbonate is created?

< __ = |0 Co
7‘4.553 ney - 2mol Kol L - a

B) If 18 grams of sodium chloride are produced, how many grams of sodium carbonate were required?

139 NaCl x 1Mol Nacl , Imol NagC0z , 105999 Naz (s

et {11
5% .44q Nacl 2mol | -1 mal 9




( gutane)
4) The complete combustion of tetracarbon decahydride in oxygen.

A) 6.0 moles of oxygen will produce how many moles of each of the products? :
W.0mal O, 3mol (02 _‘__F,']mmcoé Ww.o0mol 02 % l_ll_r@_'_*_*a@. = '-+.lom0lj+zal
13mol 02 1I3Mol Oz

B) 135.0 grams of tetracarbon decahydride will produce how many moles of carbon dioxide
1550(3 CHH]O b lm0| (”HHL‘J—-K ng‘ CUZ = Flggmol CQ;\
58 .14g Cy Hio 2 mol (4Hio  —
5) The reaction of AlBrs with Mg(OH)z

D AlBrs  + 3MQ(H), — 2A1(0H); + 3MgBT

A) 1.05 moles of aluminum bromide produces how many moles of magnesium bromide
1.05 mol AlBrs x 3MUIMIBrz - |1.58m| MgBr,
2mol ALBr3 ) :
B) 2.75 moles of magnesium hydroxide would yield how man'y grams of aluminum hydroxide_
2.15 mol g (0H)2 x 2.mol Al(04)3 L 18014 Al(OH), T,Es 9 A (oH)a\
3mal Mg(0H)z  ImolAl(0K)s '

68) The decomposition of hydrogen peroxide (H202) to form water and oxygen.
2#,0, — 2H,0 + 0,

A) 25.0 grams of oxygen gas would be produced from how many grams of hydrogen peroxide?
| 0 2moal Hy 0 ]

25.0q Oy x Mo 02 Zmo\ Ha0p 54,02 4 H202 . |53.29 H,0

<) .009 gz | ot 02 “1mo) Ha02 ‘

B) 2.5 moles of hydrogen peroxide would produce how many moles of oxygen gas?

2.6mol Hp02 x Imol 02 _ 1.25 me) Q2

2 mil H202

7) The reaction of nitric acid with potassium hydroxide to form postassium nitrate and water

HNOs + KOH — KNOsz + Hy0

A) 35.0 grams of nitric acid would produce how many moles of water?

35.09 HNO3 x 1Mol #NO3 - Imol H20 . |g.55%mol 4,0
©3.02g HNOg  |mol HNG3

B) 70.0 grams of potassium hydroxide will produce how many grams of potassium nitrate?

70.09 KOH x Mol KOH  Imot KNOz 101119 kNO3 _ [3gan R
S50NgHOH  Imal KGH  Imal KNQg | E
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